SIGNATURE AT WORK - Storage Cabinet 72"H
NB — SERIES — ASSEMBLY INSTRUCTIONS
800-558-1010 | www.NBF.com
Congratulations on the purchase of your new Signature Series product!

COMPONENTS

@Top-1pc Left side-1pc @Rightside-1pc @ Shelf-1pc @Bottom-1pc ® Top trim-1pc
™~ P,

< . -

@Front bottom trim-1pc @ Back bottom trim-1pc @ Back Panel-1pc @Base Rail-2pcs ® Left door panel-1pc
@ Right door panel-1pc @ Adjustable Shelf-2pcs
e
7

<

HARDWARE & TOOLS

Tools Required for Assembly
@Cam lock-16pcs @ Cam bolt-16pcs ®Dowe|—29pcs @ Shelf support-12pcs ®Screw 4x38mm-2pcs @ Adhesive cover-16pcs

E oy & wy O

@Screw 4x16mm-48pcs @Full cover hinge-8pcs @Handle 230mm-2pcs @Screw 4x22mm-4pcs ®Adjustable glide-4pcs ® Stopper-10pcs @ Screw 4x12mm - 4pcs

Glue-1pc Door Latch- 2pcs @ Lock catch - 2pcs Screw 3.5*16 - 12pcs @ Lockset- 1SET @ Screw 3.5*20 - 4pcs @ Hanger-4pcs
A

(1) screw ax2smm-2pcs (1) Stud-2pes (1) Zip Tie-2pcs (KK) Screw 3.5x14mm-2pcs

“ = =

Philips Screw Driver

AW-36578




NBF ~™

800-558-1010 | www.NBF.com

AT WORK - Storage Cabinet 72"H
ASSEMBLY INSTRUCTIONS

Congratulations on the purchase of your new Signature Series product!

INSTRUCTIONS

STEP 1

STEP 2

STEP 4

Turn to upright positior/

STEP 5

Note: %

FILLWOOD DOWEL HOLE HALF WAY WITH
GLUE FOR A STRONGER CONNECTION

AW-36578




NBF “c™

800-558-1010 | www.NBF.com

AT WORK - Storage Cabinet 72"H

ASSEMBLY INSTRUCTIONS

Congratulations on the purchase of your new Signature Series product!

INSTRUCTIONS

STEP 10

Circular hole

Side panel

ADJUSTMENT DEPTH ADJUSTMENT GAP

ADJUSTMENT HEIGHT

After properly adjusted,use
screw T to fix the hinge into
the circular hole.

STEP 12

STEP 9

circular hole

oval hole

STEP 11

AW-36578





